[image: image1.png]7. The graph below illustrates the demand and supply curves for the market for luxury sports cars. The equilibrium
in the absence of a tax is at a price of $100,000 and a quantity of five. The government imposes a tax of
$40,000 on luxury sports cars,

Use the red triangle (cross symbols) to shade the consumer surplus (CS) after the tax of $40,000

Use the tan quadrilateral (dash symbols) to show the CHANGE in producer surplus (PS) after the tax of
$40,000,

Assume that the tax has the same burden on both the consumers and producers.
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